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ne : Three hours

Sketch the signal x(t) = sin(—zg—t).

Maximum : 100 marks

‘MNIIS.CO

Give the relation between I2) 2na

Vhat are the equations used to
periodic signals?

vze and synthesize continuous time

A at is the Laplace transform of s SInuous time unit step function u(t) ?

ven the transfer function His

; =, assuming the system to be causal,
d the impulse response of the s

/0 systems are connected in sers -’: impulse responses hy(t)=6(t-1) and

lse response of the system?
8)=1+5in10072?

its ROC for the signal

id A
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. 4 x(n)={1,1,2
9. A system when excited by an input () {T produces an outp

= {Tl’ 8856} What is the impulse response h(n) of the system?

10. Give an example of a recursive system, in terms of difference equat
representation.

PARTB —(5x 13=65 marks)

1. (a) Given ¥™=1{123, ‘}r’ 122} plot the following signals,

(i) x(n)

() Hn-2) g -
ww-binils.co

(iv) x(2n-2)

®  x(n)n(n-1).

| Or

! (b) Given the input-output relationship of a discrete time s
Y(n)=x(n-1)+5. Determine whether the system is memoryless, cal
linear, time invariant and stable.

12. (a) If x(jn) is the Fourier transform of x(f), What is the Fourier tram
of the following signals in terms of x(jn).

@ %xa)
(i) =« (~1)
(iii) e/t x(0)

(iv) =x(2t-3)

Or

() Find the Laplace transform, Y(s) of @)= x, (1) * %, (£)
% (t) =€ u(t) and x,(t) = u(t) . Also find y(t), from y(s).

2
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;(a) Convolve the following signals.

ALE) hiE)

oV

& ° 2
o h
Or

(b) The transfer function of a causal system is given hy H(s) = .

find the imp
the system.

s +25-15

ulse response and the differential equation representation of

(@) Find the Fourier transform of x(n) = (0.5)!"

and plot the spectrum.
Or
Find the z-transform of x(8) = (0.75)" (- —1) .( 0 —1) a
AWLDIDIS,CO
4 - ||
atigns ! us te-tffle system 18

Y(n)=3y(n ~1)+ 2y(n =2)=x(n) - x(n—1)

Find the impulse response A(n)of the system using z —transform.

Or

Given 0.3(0.5)"u(n) is the impulse responge h(n) of a system. Find the

PARTC—(1x15= 15 marks)

Consider the interconnection of LT] systems shown below
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Given
hy(n)= [%) u(n +2)

hy(n) = 8(n)
hy(n) = u(n -1)

Determine the overall impulse response of the system.

Or

() Consider the interconnection of LTI systems shown below.

Given
| () =e" u(t) hy() = 5(8)
r hy () =280t +1) hy(t)=e"u(t)
' Determine the overall impulse response of the system
|
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